thad g m*Mr1/GevA

pT

1/od’c/ d

Ratio to ATLAS

-
<
N

=
o
&

|
o
o

1077

0.5

13000 GeV pp tt
= T T e e
c
top . . Qo
- pT (ATLAS semileptonic ttbar) — 73
— ] S
— L0
H LS
L HY
S
- —
—
o
= =R
= ==
- m[ed
)
I —1 ™M
— = (i‘,;
—  m ATLAS s
- o Pythia 6.428 34 18
~ O Pythia 6.428 346 12
~  —A— Pythia 6.428 370 15
- Pythia 6.428 ambtl 5
- Pythia 6.428 z1 ==
~  ——— Pythia 6.428 22 48
B %2
- -2
o
— — O
= | | | | | | | | | &
— =2
1
L —0.5
| 1 1 1 1 " | " 1 " 1 " 1 " 1 " |
0 500 1000

pt" [GeV], m>*M in [200,400] [GeV]



	Contents
	Page 1


